Name: _____________ Period: _____

Date: _____________

Calculating BMI and Waist-to-Hip Ratio

Directions: Read the below and complete the practice problems.

Calculating Waist-to-Hip Ratio
Waist-to-hip ratio is an easy and quick method used to help teens or adults determine their body fat distribution or body shape.  Body shape is described in two ways; apple or pear shape.  Apple shaped people have more abdominal fat; increased risk of developing chronic diseases.  Pear shaped people have more fat in the hips; lower risk of developing chronic diseases.

Procedure:
1.  Measure waist at narrowest circumference.



2.  Measure hips at widest circumference.



3.  Divide measurements of the waist by the measurement of the hips.

Formula Evaluation:

Increased health risks indicated by

> 1.0 in men 

> 0.85 in women

Practice: Figure the below problems.

	Gender
	Waist
	Hip
	Ratio
	Apple/Pear
	Is it a health risk?

	Male
	32”
	36”
	
	
	yes  //  no

	Male
	46”
	36”
	
	
	yes  //  no

	Female
	35”
	40”
	
	
	yes  //  no

	Female
	19”
	31”
	
	
	yes  //  no


****************************************************************************************************

Calculating Body Mass Index (BMI)
Formula:

BMI = weight (lb) ÷ [stature (in)]2 x 703





(or)


weight (lb) ÷ stature (in) ÷ stature (in) x 703 = BMI

Practice: Figure the below problems.
	Height
	Inches
	Weight
	Gender
	BMI
	Is it a risk factor?

	6’
	
	175#
	Teen Male
	
	yes  //  no

	4’10”
	
	95#
	Adult Female
	
	yes  //  no

	5’
	
	165#
	Teen Female
	
	yes  //  no

	5’5”
	
	145#
	Adult Male
	
	yes  //  no

	6’2
	
	210#
	Adult Female
	
	yes  //  no
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